EAGRAROBREERT — 2 N— IBISH —F

2021568198 (£) 4EEHA1H

m B—2 B ¥5%—#& ‘ [X&] 2 ‘ [seEmsf]  — | & (&) 1600M R
[A&4£)] 1 7% :1,000,000 @ 23 :350,000 @ . 33 :200,000 ~ 4 3#%:150,000 @ . 5 7 :100,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
R ZIE : -1-1- — ITHER ()
1 6 EF—LZ RILL 4 5 5.%:1_0 1.(4_5).1 1-1-1-1 | 41.2 1 (4_611) piteecild
R:YZRE4—3IZ24— BAXHHFT-X VDAY ¢ ]
N 4 5 | EERI 1:45.7 9-10-9-5 |40.1| — 7 530 |EFE= (&)
2|7/ 9| EANT 7L R 56.0 3 Co | (R PN
LT TURZ B:bhyTo1—F2R ERS
T B4 | HEMER 1:45.7 5-4-4-3 | 41.0| — 2 447 | BT (&H)
3lgl11| 773 -7 54.0 (747) (7) | SR
L:ECTARYY B:3atE3ITr4 TCER S
= o, =P o i 5 | BEEX 1:46.2 7-7-6-4 | 41.2| — 5 444 | BT (EH)
4 2 L—Z2>T5 > 54.0 (2 1/2) 0 st
R:rvA07x% #B:7zU—-7 BHHE
SMET 47 o 7 ) _ IHEET (/)
5 3| 70214 44 5’6.0 1(457)3 8-8-7-6 | 42.0 3 :1233; B
L:7V)F=v BN TrELTX FUI> MU
. 4 8 | EEER 1:47.4 2-2-2-2 | 43.1| — 6 537 | AEMET L (SH)
6 4|AXF b 56.0 (1/2) ) | W) Fr—ZbrEYa>
R:T7I2AFTEIN B:OviXTLEC b FRESS
S . it 8 | MERtA 1:48.1 6-6-5-7 |43.3| — 8 531 | IBHES (FH)
7|8/10| R- = bbb A * 56.0 ) Ly |EHBE
LIV INATA—h— B:R—ChoT—F%— Bt e
e+ E2 8% : -5-8- — BEIEX (FH)
gl1l1|nor=sz # 5 il (11.418/.24) 4-5-8-10 | 43.1 4 (5;2) et
LNZ—k21—X B:TIXT 1NN 75> NG
= $ S 4 9 | EHE 1:48.7 10-9-10-8 | 43.0| — 10 | 524 |BBEMETH (BH)
9|5/5|7 1~ LTANT *52.0 A 1/2) 4a) | @R Tr—xtEVar
LA TATv— BNTILT ppal=l% et
= 3 PR E—ER :50. -3-3~ 9| - THER (&)
10 7| FREIIFN 7 o 1{580)3 3-3-3-9 | 45.9 9 (4% He
R:IVALF4RY B:FAvIUT TrZ—klNTr—L
N N . KHFAE — - — — — — | #EEX (BF)
w|7| 8| VIN=Z =2 o7 x= o - m%Z%
L:7HAF)v—Ib B:iLTF4—I>TLLA e
® I —F—EBIERL
13=7r= 6,4,7,1,11,10,2,3,9,5
Ra=gr= 6,4,7,11,1,10,2,3,5,9
BEE/aE 6,4,7,11,10,2,3,1,9,5
43—+ — 6,4,11,2,9,3,10,5,7,1
[ RNz
B OB 6 260M 74K 6-9 560M e 6-7 1,360M JEHE 6-9-11 1,950
8 B 6 1304 6-11 210M B = 6-9 1,670 K31 6-9-11 9,750
9 230M 9-11 700M B H 6-9 2,450
1 160/

ABTICOVTRDTEEERROODE, JHB LS,




